M E /N R EITH (3A)

A N 7K /N & 1 =

18

2H 3H 4H 5H 6 H 7 B 8H

9H 10H 11H 12H 13H 14 H 15H

O O

16 H 17 H 18H 19H |(20H (#1)| 21H 22H

O O O

23H 24H 25H 26 H 278 28H 29H

O O O O O O O
30H 318
O O

QOO BDHEITLET,

KRIXFICKYERTDIGELHYFT




IR/ N\ X EITH (48)
A N 7K /N & 1 =
1H 2 H 3H 4H (f)| 5H
O O O O O
6 H 7 B 8H 9H 10H 11H 12H
O O
13H 14H 15H 16H 17H 18H 19H
O O
20H 2183 22H 23H 24H 25H 26 H
O O
27H 28H |29H(#)| 30H
O O
QOO BDHEITLET,

KRIXFICKYERTDIGELHYFT




YR =/ N R EITH (5 8)

B X 7K ZN & T H
1H 2H 3H
) ) O

48 (#) |5H (%) | 6B (HK) | 78 8 H 90 | 10H

o O O

116 12H 13H 148 | 15H 168 | 178

18H 19H 200 | 218 | 228 | 23H | 24H

25H 26H 278 | 28H | 29H | 30H | 31H

30H 31H

OHIDBHDHEITLET

KRIXRFICKYERTDIHELHYFT




